Extra District 1 Practice Problems
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3.
The nucleus of an atom has a very high density.  This means which of the following?

a) The nucleus has a low mass and a low volume.

b) The nucleus has a high mass and low volume.

c) The nucleus has a high mass and a high volume.

d) The nucleus has a low mass and a low volume.

4.
The nucleus of an atom is 

a) The central core composed of protons and neutrons

b) Negatively charged and has a high density

c) Positively charged as it contains more protons than electrons


d) Negatively charged as has a low density
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9.
Which of the following elements has 2 valence electrons?


a) Be


b) Ne


c) Li


d) F

10.
Which list contains elements that have the same number of electrons available for bonding?


a) Na, Mg, Fe


b) S, Cl, Br


c) O, Cl, Kr


d) O, S, Se

11.
How many valence electrons does an atom of oxygen (O) have?


a) 2


b) 4


c) 6


d) 8

